MmP CHEMFLO® 8

PUMPS

by Gardner Denver

Made with high quality investment cast 316 stainless steel components,
the ChemFlo® series of pumps are designed to be applied in a wide range of
pumping applications where stainless steel is required.

The ChemFlo® 8 pumps utilize an enclosed impeller designed for achieving
higher heads and efficiencies than a standard semi-open impeller. Multiple
impeller trims allow the ChemFlo® 8 to meet most duty points up to 350 GPM
and total head up to 290 feet. Several mechanical seal options are available
in addition to the standard type 2100 carbon / ceramic / Viton mechanical
seal.

ChemFlo® 8 pumps are offered in two configurations, pump (with motor)
and PumPAK® (without motor) versions. Motors available are 145TC,
184TC, 215TC, 256TC, and 286TSC. If ordering a PUmPAK® please note
that the electric motor must have a base.

SPECIFICATIONS:

Suction And Discharge 3" x 1-1/2" 150# ANSI flange
Materials Of Construction 316 stainless steel

Flow Up to 350 GPM

Head Feet Up to 290

Impeller 8.0" enclosed, cast 316 stainless steel
Motor Up to 30 HP

Drive Options Close coupled 184TC, Close coupled

215TC, Close coupled 256TC, Close
coupled 286TSC, Close coupled 145TC,
Pedestal, PumPAK® (without motor)

Seal Special seal material combinations
available (consult factory), Standard
carbon / ceramic / Viton

Options Tap for recirculation or seal flush,
Hydraulic motor driven pedestals and shaft
driven pedestals

CC

3" x 1-1/2" End Suction Centrifugal Pump

Application

« Agricultural
« Commercial
« Industrial

* Marine

« OEM

Drive Sleeve

« 316 stainless steel



CHEMFLO® 8 CC

CUBIC METERS PER HOUR
0 10= =90 ==30—= 40 =w=50==50= 90 0= 00
r8.0DIA, 95% ‘!53 MODEL _ CHEMFLO 8
F59.75 i L 61% SIZE ___ 3X15
17517 N SN i SPEED _ 2850RPM
~ 7.5 B S
& : \\‘.‘ = i:; o= = x‘\o
150 - . 0
7.0k Im S o
- 1 ! N | . - - - 1“'\‘ \"'\ \‘\\ 60 40 ILE
L412576.5 DIA I T P R DS IRS =
s B =Sy T I 55% .
2100 T S Q 30 4j
Ll AN A u o
I P = Y\ \\ N ~"\ ‘\" El
575 i BN N 200
o 75 \\ A 15HP =
AN N
50 T
10
25
0
0 40 80 120 160 200 240 280 320 360 400
GALLONS PER MINUTE C/N5196
(MIP oo 2ssooao - Fax e 2osaiss CHEMFLOB 8 G

(800) 563-8006 - www.mppumps.com



CHEMFLO® 8 CC

CUBIC METERS PER HOUR
0 10 20 30 40
MODEL_CHEMFLO 8
8.0 DIA 45% 7150 SIZE 3X1.5
1 = L gy SPEED_1750 RPM
01775 T :
—— SNuER NN 120
Nime RSN 4
60 ——2:30 VRN BN m
Aol | << A AN E
L S\ < N ) S
L A ENEERNANEE .50 .
' 7.QDIA. & NUAWANWENE Q
(] |t N . \ = v\ i \\ N ¢
< 50 ~R) WP ARNEENAN N
L B -~ ] \45% T
T { HP . d 4 =
< g WANA VN 3
~ m S RNEPSERN 5
[_. .
o 40 2 S TS, °
- O RN
\ki"‘-l \ \\ \\
ANERNEDERY 7 10
30 RN \
N3 AN
N ™
|
20 |
0 25 50 75 100 125 150 175 200 225
GALLONS PER MINUTE C/N 5200

34800 BENNETT - FRASER, MI 48026-1686
(586) 293-8240 - FAX (586) 293-8469
(800) 563-8006 - www.mppumps.com

CHEMFLO® 8 CC



CHEMFLO® 8 CC

CUBIC METERS PER HOUR
0 20 40 60 80
MODEL _CHEMFLO8
SIZE 3X 1.5
350 SPEED  VARIES
IMPELLER 8.0 DIA.
3003500 RPM1=42%-50_] 55 -
}‘ ,~ f;‘“‘* F1163%
Ezsc - L i f! / 2 1;“\ __63%
0 RS S, m: / SIS 7T 25 HP
22002850 ‘
nS i e
:l:I15 A1 A h/‘égo
= ) u 151 F
(@) i 7
= i 10155
100— 7 = NPSHR
1750 RPMEL/ o
: S5 HP 17 :
50 Sy = 13
NPSHR 11
9
0 40 80 120 160 200 240 280 320 360 400

GALLONS PER MINUTE

34800 BENNETT - FRASER, MI 48026-1686
(586) 293-8240 - FAX (586) 293-8469
(800) 563-8006 - www.mppumps.com

C/N5162

o
o

o
o
TOTAL HEAD - METERS

B
o

20

CHEMFLO® 8 CC



CHEMFLO® 8 CC

CUBIC METERS PER HOUR
0O 10 2 3 40 50 60 70 80 90

= MODEL __ CHEMFLO 8
SIZE 3X1.5
350; SPEED___ 3500 RPM
IMPELLER_VARIES
n
—+8.0 DIA. 50%- e
300:.,;,_? 11 ~ ?-5 80 nl_J
= IS N / = ’ .80 g
WaealT s AN, —
Ezso Er TR i - =] ! ‘“L\ '
: ;%--— b \ :—- = 3 ,_oo
200 g | i T +‘ J |
a 6.5 DIA. 17 | EEas SeSEEsENERNLY
f e ST4ERsS =
= -nN
A L S IS 508 402
2100' m 2 1é ~ jlvz)
15 120
50
‘0

0 40 80 120 160 200 240 280 320 360 400
' GALLONS PER MINUTE C/N 5163

34800 BENNETT - FRASER, MI 48026-1686
@ (586) 293-8240 - FAX (586) 293-8469

(800) 563-8006 - www.mppumps.com

CHEMFLO® 8 CC



CHEMFLO® 8 CC

11/2" CLASS 150

45°TYP /gf
* | | OUTLET FLANGE

(4) D .56 THRU HOLES
EQ. SPACED AS SHOWN
(4) 1/2-13 X 3/4 CAPSCREW ON A 3.875B.C.

EQ. SPACED AS SHOWN
ON A @7.250B.C. 7.27

|-—2.?1 —= 10.50

00

d —{ ~{2) 1/8" NPT

2,98 PIPE PLUG
(2JR.28 :
THRU SLOTS (41 ©.75 THRU HOLE 3" CLASS 150
m | EQ. SPACED AS SHOW s
+ | £ ON A ©6.00B.C,

CF8 PUMPAK FOR 215TC

34800 BENNETT - FRASER, MI 48026-1686
P (586) 293-8240 - FAX (586) 293-8469
(800) 563-8006 - www.mppumps.com

PUMPS

CHEMFLO® 8 CC
by Gardner Denver



mP

PUMPS

by Gardner Denver

11/2" CLASS 150

45° TYP Ff '
* | | OUTLET FLANGE

(4) @ .56 THRU HOLES
EQ. SPACED AS SHOWN
OMN A $3.875B.C.

[4) 3/8-16 X 3/4 CAPSCREW

EQ. SPACED AS SHOWN 7.10
[=2.71— 10.50
14.75
-
00
=
d —{ ~(2) 1/8"' NPT
T 508 PIPE PLUG -
(2)R.28 :
| THRU SLOTS (4) @ .75 THRU HOLE
m . + EQ. SPACED AS SHOWN INLET FLANG
' | ! ON A ©6.008.C.

.63

CF8 PUMPAEK FOR 145TC

34800 BENNETT - FRASER, MI 48026-1686
(586) 293-8240 - FAX (586) 293-8469 CHEMFLO® 8 CC
(800) 563-8006 - www.mppumps.com



CHEMFLO® 8 CC

[4) 1/2-13 X 3/4 CAPSCREW
EQ. SPACED AS SHOWN

ON A $7.250B.C.

mP

PUMPS

by Gardner Denver

11/2" CLASS 150

45° TYP F{ '
* | | OUTLET FLANGE

(4) @ .56 THRU HOLES
EQ. SPACED AS SHOWN
OMN A $3.875B.C.

(2)R.28

m | THRU SLOTS
T i *

63

34800 BENNETT - FRASER, MI 48026-1686
(586) 293-8240 - FAX (586) 293-8469
(800) 563-8006 - www.mppumps.com

7.27
[=-2.71—= 10.50
q
(1675
00
= _—{ ~(2) 1/8' NPT 1
PIPE PLUG
—3.98—=

(4] ©.75 THRU HOLE
EG. SPACED AS SHOW

ON A B6.00B.C. el

CF8 PUMPAEK FOR 184TC

CHEMFLO® 8 CC



CHEMFLO® 8 CC

11/2" CLASS 150

45° TYP Ff '
* | | OUTLET FLANGE

[4) .56 THRU HOLES
EG. SPACED AS SHOWN
(4) 1/2-13 X 3/4 CAPSCREW OMN A $3.875B.C.
EQ. SPACED AS SHOWN
ON A ©7.250B.C. 777

|-—2.? 1—= 10.50

L

45°TYP

oo
—
1.6265
®16255
s _{ —(2) 1/8" NPT
] - PIPE PLUG ]
(2)R.28 '
- {4) .75 THRU HOLE 3" CLASS 150
| EQ. SPACED AS SHOW INLET FLANG
: | : ON A @6,00B.C,

%

CF8 PUMPAEK FOR 254TC

34800 BENNETT - FRASER, MI 48026-1686
P (586) 293-8240 - FAX (586) 293-8469
(800) 563-8006 - www.mppumps.com

PUMPS

CHEMFLO® 8 CC
by Gardner Denver



CHEMFLO® 8 CC

11/2" CLASS 150

45°TYP F{ |
* | | OUTLET FLANGE

(4) @ .56 THRU HOLES
EQ. SPACED AS SHOWN

r(4) 1/2-13 X 3/4 CAPSCREW ON A P3.875B.C. @ 5.00
EQ. SPACED AS SHOWN
ON A ©9.000 B.C. 714
271~ 10.50
ga Lo
(475
45° TY I
1 00
- —
Lﬁ —{ —(2) 1/8" NPT
- PIPE PLUG =
-—3.98—
(2)R.28 (4) .75 THRU HOLE
| THRU SLOTS EQ. SPACED AS SHOWN ¥ aapeg it
B | * ON A () 6.00B.C.
63

%

CF8 PUMPAEK FOR 284T5C

34800 BENNETT - FRASER, MI 48026-1686
MP  (556) 2038240 - FAaX (586) 293-8469

CHEMFLO® 8 CC
by Gardner Denver (800) 563-8006 - www.mppumps.com



mP

PUMPS

by Gardner Denver

CHEMFLO® 8 CC

34800 BENNETT - FRASER, MI 48026-1686
(586) 293-8240 - FAX (586) 293-8469
(800) 563-8006 - www.mppumps.com

CF8 PUMPAK FOR 215TC

T

ITEM

ettt RN RN S FE YL YL INE N A

PART
21255
31450
29194
31448
31945
31964
31964
31968
31347
31374
28170
26441

31311
31430
39262
39411
21260

21268
31426
31091
31235
31312

DESCRIPTION
PIPE PLUG 1/8" NPT
VOLUTE
HEX JAM NUT 5/8-18
IMPELLER @7.95
IMPELLER @7.75
IMPELLER &7.50
IMPELLER @&7.00
IMPELLER @4.50
SEAL ASSEMBLY 1
SEAL ASSEMBLY 1
SEAL ASSEMBLY 1.5"
SEAL ASSEMBLY 1.5"
SEAL ASSEMBLY 1.57
DRIVE SLEEVE
O-RING AS-568-265
O-RING AS-588-265
O-RING A3-568-265
STUD 3/8-14X1.32
FLAT WASHER
HEXNUT 3/8-16
SEAL HOUSING
MOTOR ADAPTOR
CAPSCREW 1/2-13%3/4
CLAMP

=
5

MATERIAL QTY.
314 55 2
CFaM 55 1
314 35 1
CF8M 5§ 1
CF8M 55 1
CFam 55 1
CF8M 5§ 1
CFaMm 55 1
STC/A1655 1
CCSWITON 1
EPDIM 1
55C 1
CHEMLON 1
314 55 1
VITOM 1
EPDM 1
BUMA, 1
304 55 10

CF8M 55 1
CAST IRON 1
304 55 4
STEEL 1

CHEMFLO® 8 CC



mP

PUMPS

by Gardner Denver

CHEMFLO® 8 CC

34800 BENNETT - FRASER, MI 48026-1686
(586) 293-8240 - FAX (586) 293-8469
(800) 563-8006 - www.mppumps.com

CF8 PUMPAK FOR 145TC

¥

ITEM

Bl e L B O O

PART
21255
318650
29194
31448
31965
31966
31966
31968
31347
31374
28170
26461
26565
31806
31430
39262
39411
21260
28053
21268
31426
31711
25663
2303%

DESCRIPTION
PIPE PLUG 178" NPT
VOLUTE
HEX JAM NUT 5/8-18
IMPELLER @7.95
IMPELLER @7.75
IMPELLER @7.50
IMPELLER @7.00
IMPELLER @6.50
SEAL ASSEMBLY 1.5
SEAL ASSEMBLY 1.5
SEAL ASSEMBLY 1.5
SEAL ASSEMBLY 1.5
SEAL ASSEMBLY 1.5
DRIVE SLEEVE
O-RING AS-568-265
O-RING AS-56B-265
O-RING AS-568-265
STUD 3/8-16X1.32
FLAT WASHER
HEXNUT 3/8-14
SEAL HOUSING
MOTOR ADAPTER
CAPSCREW 3/8-14 X 3/4
CLAMP ASSEMBLY

MATERIAL QTY.
31658 2
CFBM 55 1
31655 1
CFBM S5 1
CF8M 55 1
CFBM S5 1
CF8M 55 1
CFBM S5 1
STC/316585 1
CCSVITON 1
EPDM 1
35C 1
CHEMLON 1
31458 1
VITOMN 1
EPDM 1
BUMNA 1
304 55 10
304 58 10
304 55 10
CFBM S5 1
CAST IROM 1
304 55 4
30388 1

CHEMFLO® 8 CC



mP

PUMPS

by Gardner Denver

CHEMFLO® 8 CC

34800 BENNETT - FRASER, MI 48026-1686
(586) 293-8240 - FAX (586) 293-8469
(800) 563-8006 - www.mppumps.com

CF8 PUMPAK FOR 184TC

IT?M

)
3
4
4
4
4
4
]
5
]
5
el
&
7
7
7
8
?
10
11
12
13
14

PART
21255
31450
29194
31645
31965
31946
31966
31948
31347
31374
28170
26441
26565
31094
31430
39262
39411
21260
28053
212468
31426
31091
31235
31099

DESCRIFTION
PIFE PLUG 1/8" NPT
VOLUTE
HEX JAM NUT 5/8-18
IMPELLER ©7.95
IMPELLER 7,75
IMPELLER 7.50
IMPELLER @7.00
IMPELLER @&,50
SEAL ASSEMBLY 1.5
SEAL ASSEMBLY 1.5
SEAL ASSEMBLY 1.5
SEAL ASSEMEBLY 1.5"
SEAL ASSEMBLY 1.5
DRIVE SLEEVE
Q-RING A5-568-265
O-RING AS-548-265
O-RING A5-548-265
STUD 3/8-146X1.32
FLAT WASHER
HEXMNUT 3/8-1&
SEAL HOUSING
MOTOR ADAFPTOR
CAPSCREW 1/2-13X3/4
CLAMP

_E\

MATERIAL QTY,
316 85 2
CF8m 35 1
316 85 1
CF8m 55 1
CF8M 55 1
CFBM S5 1
CF8M 35 1
CF8M 55 1
STC/318585 1
CCIVITON 1
EFCIMA 1
58C 1
CHEMLON 1
316 55 1
VITON 1
EFDM 1
BUMA, 1
304 S5 10
304 55 10
304 S5 10
CF8M 55 1
CAST IRON 1
304 S5 4
STEEL 1

CHEMFLO® 8 CC



CHEMFLO® 8 CC

g%

ITEM  PART DESCRIPTION MATERIAL  QTY,
1 21255 PIPE PLUG 1/8" NPT 31655 2
2 31450 VOLUTE CF8M 55 1
3 29194 HEX JAM NUT 5/818 31655 1
4 31648 IMPELLER @7.95 CF8M 55 1
4 31945 IMPELLER @7.75 CFaMm 55 1
4 31966 IMPELLER @7.50 CF8M S5 1
4 3196 IMPELLER @7.00 CF8M 55 1
4 31948 IMPELLER ©4.50 CF8M 5§ 1
5 33326 SEAL ASSEMBLY 1.75° CAR/CER/NVIT 1
§ 33327 SEAL ASSEMBLY 1.75° sTC 1
5 33328 SEAL ASSEMBLY 1.75° CHEMLON 1
& 31833 DRIVE SLEEVE 31655 1
7 31430 O-RING VITON 1
7 31430 O-RING AS-568-265 VITON 1
7 39262 O-RING AS-568-265 EPDM 1
8 39411 O-RING AS5-568-265 BUNA 1
9 28053 FLAT WASHER 304 55 4
10 21268 HEXNUT 3/8-16 304 55 4
11 34095 SEALHOUSING CF8M S5 1
12 34350 FLAT WASHER 1,06X.50%.09 304 55 4
13 33480 CAPSCREW 1/2-13X1.00 30455 4
14 33444 MOTOR ADAPTOR CAST IRON 1
15 31235 CAPSCREW 1/2-13%3/4 30455 4

CF8 PUMPAK FOR 256TC 16 33036 CLAMP ASSEMBLY STEEL 1

34800 BENNETT - FRASER, MI 48026-1686
P (586) 293-8240 - FAX (586) 293-8469
(800) 563-8006 - www.mppumps.com

PUMPS

CHEMFLO® 8 CC
by Gardner Denver



CHEMFLO® 8 CC

Go-0t

TEM PART DESCRIFTION MATERIAL Qry.
1 21255 PIPE PLUG 1/8" NPT 314 55 2
2 31650 VOLUTE CFam 55 1
3 29194 HEX JAM NUT 5/8-18 314 55 1
4 314648  IMPELLER @7.95 CFamM 55 1
4 31965 IMPELLER @7.75 CFaM 55 1
4 319646 IMPELLER @750 CF8M 55 1
4 31964  IMPELLER @7.00 CF8M 55 1
4 31968 IMPELLER @4.50 CFam 55 1
5 33324 SEAL ASSEMBLY 1.75 CARJCERMVITON 1
5 33327 SEAL ASSEMBLY 1.75 STC 1
5 33328 SEAL ASSEMBLY 1.75° CHEMLON 1
6 31833 DRIVE SLEEVE 314 55 1
i 31430  O-RING AS-548-265 VITOM 1
7 39262  O-RING AS-568-265 EPDM 1
7 39411 O-RING AS-548-265 BUNA 1
a 21260 STUD 3/8-14X1.32 304 S5 ]
7 28053 FLAT WASHER 304 55 &
10 21268  HEXMNUT 3/8-14 304 S5 -]
11 34095 SEAL HOUSING CFam 55 1
12 34350 FLAT WASHER 1.06X.50X.09 304 55 4
13 33480 CAPSCREW 1/2-13X1.00 304 55 4
14 33318 MOTOR ADAPTER CAST IROM 1
15 31235 CAPSCREW 1/2-13X3/4 304 55 4

CF8 PUMFAK FOR 284T5C 16 33036 CLAMP ASSEMBLY STEEL 1

34800 BENNETT - FRASER, MI 48026-1686
,,,,M,,SP (586) 293-8240 - FAX (586) 293-8469

CHEMFLO® 8 CC
by Gardner Denver  (800) 563-8006 - www.mppumps.com


http://www.tcpdf.org

